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EeaodS F°o / CHEMISTRY

(B0 $S9803 QoAR 2PR0EE520 / Telugu & English Version)

Register Number

RSI0IIS0 : 2.30 (0L | [ (T@Kg AIPB0 : 70
Time Allowed : 2.30 Hours | [ Maximum Marks : 70
BIPSPe0 (1) S00|Eses VD83 (DD, EIROMP HOBD0B0E. B E0DT DFB0E

€3 DRATTR), DO TS ATPHED 236050 BOATZATV0E.

2) ©OTERE S0O0T0 WoEEB R DoKERRE Do S FeVsY Sord Voo
SPBR0 GDBIA0H0G. DBDEPOED PG SDABIA0B0E.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

KHSOE 1  SAEDID S0 DIEEDEISID (1O DOIBGEISIIODI [FR0FIISI.

Note : Draw diagrams and write equations wherever necessary.

geifo - 1/ PART - I
B 1 (1) o DHod Jrgraren axxos. 15x1=15
(i) 2XEES Teoid (DB Sre Dol PR DBHE WP JoDY 3
@S S8 HH8ckn $00HS 23ae0id (FTPAE.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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L 08 o@ngh %o @ 2od e5ié & 5ty sl e BV trdrodieed :

@) &3S sasd (b) S WS b
© BS @S (d) dod BHE
When ethyl iodide is treated with dry silver oxide it forms :
(a) Diethyl ether (b)  Ethyl methyl ether
(c)  Ethyl alcohol (d) Silver ethoxide

2. CCl & NO; T30 20eTSb DA 8 e
(@)  ROERIEI0 (b) &0 EEoroE3
(€) QoG PHI EI0°08300 (d) DXt
Decomposition of nitrogen pentoxide N,Oz in CCl, is a reaction.
(a) Sequential (b)  First order
(c) Pseudo first order (d) Parallel

3. Zn/NaOH & o5urs6eaioo/ S0 ety el @o@d B 33300 2

() CgH;NHOH (d) CegHs—N=N-CgHjs
O

Nitrobenzene on reduction with Zn/NaOH gives :

(C) C6H5NHOH (d) C6H5 —N=N- C6H5
O

4. IF; o800 A8, <59

(@)  BEBE DEAES b) @SSaH JHEss

(€) ©RPOEI (d) Dotsbooyp BHoAS
The Geometry of IF, molecule :

(a) Square pyramidal (b) Trigonal bipyramidal
(c) Octahedral (d) Pentagonal bipyramidal
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GBS’ O ased 200é QS Sofydoio wdindl Hty e (0aH0 25 S weytS
83“’0(5251‘30& :

(@) CH,CHO (b) CO, () HCHO (d) CH,COCH,

From which of the following one, tertiary butyl alcohol is obtained by the action of
methyl magnesium iodide ?

(a) CH,CHO (b) CO, (c) HCHO (d) CH,COCH,

KSR 20001 PER © Bogrod SER S 8OA cotwod :
Sucrose contains glucose and fructose linked by :

(@) C—-Cq (b) C-C, © -G d < -¢

g8 EO0DR0 A8 B I3
(@) —w+PAV (b) —w-—PAV (c) w-—PAV (d) w+PAV
The net work done by the system is :

(@) —w+PAV (b) —w-—PAV (c) w-—PAV (d) w+PAV

8o TS B HPS V500 T 9

(a) —-OH ®) —Nig (© >C=0 d -N=N-

Which one of the following is not a Chromophore ?
(@) —OH (b) —N (g >C=0 (d —-N=N-
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9.

10.

808 g5 $0800H0

() Sortingo B Qe0soBHts o BFed” S5rvorT 88 3.7 X 10%0%rgs/ sec X008’
EORITN.

({) SO @0y, (1 Baar pPfelY TRE SeTe D TERtERNS” ErIroteEo.

(i) STEAHE BEHUL SosHo™ FE Saression/pdfS Y eid ik,

(iv) 8D F35en TSy, BoBand (BHUBL ook, Q oo BoeTEEOTT €000l

2% 2870 T3S D T DOCHD 2

(@) (i) So0owo (i) (b) (i) oOCWo (iv) (¢) (i) B0 (H) () (i) SO0 (iv)

Consider the following statements :

(i) The sun is giving out energy equally in all possible directions at the rate of
3.7%x10%0 ergs/sec.

(i) (C radio isotope of carbon is formed in the upper atmosphere from cosmic rays.

(iii) New element/isotope may be produced during the nuclear reaction.

(iv) When energy is absorbed, the Q value of nuclear reaction will be negative.

Which of the above statements are correct ?

(a) (i) and (iii) (b) (iii) and (iv) (¢) (i) and (ii) (d) (i) and (iv)
o8 TAV e3BRBLR00

1) 386 @) «‘é@i’)&e‘é‘a Q08T
() @ges (i) DY) e000e5300e5
(B) Do TETERY (i)  (E95E3 TPE0

(4)  3ood (iv) b &

@ (), @-v), @), (-G

© @), @), G-, @16

©  (-Gi), @), (-6, (-G

(@ (-G, -0, G-Gv), @G

Match the following :

(1) Brass (i)  Surgical instruments
(2) Stellite (i) Skin ointment

(3) Lunar caustic (iii) Condenser tubes
(4) Calamine (iv) Hair dye

@  (W-@), @)-v), (3)-(ii), (4)-(iD)

(b)  (D-Gv), 2)-(iid), (3)-(ii), (4)-(1)

(© (-G, 2)-(v), B)-(1), (4)-(iii)

(d) (D)D), 2)-0), B)-(iv), (4)-(i)
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IBE, TS @63 esthoriogrrio $ABeS’ &) &Sooen :

(a)  2LAPRHRNS SOHESES (b) 2000 esdysised

(€)  &Oyeod Qﬁ%gée'% (d)  GEIDFoEsE

The metals near the bottom of the electrochemical series are :

(a) Weak reducing agents (b) Weak oxidising agents
(c) Strong oxidising agents (d) Strong reducing agents

X >> Xp 00035080 A—B 2008300 -

(a) OSSN0 (b) &SI

(©)  (GO% $80C3T2saT80 d) (G0 B¥003reRotm TR0
When X, >> X, A—B bond is :

(@) Ionic (b) Metallic

(c) Polar covalent (d) Non-polar covalent

BPOIE S50 fig@ DT° 000D ?

(a)  ©ROEH,0e300 (b) R0 SOBADs e8I SoeAaE0
(c) NS (d) oot

State of chemical equilibrium is :

(a) irreversible (b) stationary and irreversible

(c) dynamic (d) stationary

[FeF6]4_ @055"5 O3~D§Z; @O:i)ﬁ"b0® @J”mﬁb&) :

(@) 4.90 BM (b) 5.92 BM (c) 2.83 BM (d) 1.73 BM
The magnetic moment of [FeF6]4_ ion :
(@) 4.90 BM (b) 5.92 BM (c) 2.83 BM (d) 1.73 BM

QPQTITEL AT
(a) ohm™! (b) ohm~!m? (c) ohm~!m~1! (d) ohmm
Unit of specific conductance :

(a) ohm™! (b) ohm~!m? (c) ohm~!m~1 (d) ohmm
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16.

17.

18.

19.

20.

21.

22.

grifo - II/ PART - 11
DT 0 (HHPE eETRe0ed FPAORD. (57 Doy 24 SO 6x2=12
Answer any six questions and Question No. 24 is Compulsory.

25 BUITE) ook, eabAsse B SoEss 505805 & Joe 5ty Foteiod ?

How Ionisation energy of an atom is affected by nuclear charge ?

5836y g, esdysties &5 180D Eroiosm.

Write about the oxidation state of actinides.

Fo015,08" 8882 23355 50N G0 DIEHoE” BEGT PO 0T Do (P 100D FOKvH.

What is the role of radioactive isotopes in the mechanism of photosynthesis in
plants ?

ToTET (5% T O ?

What is a vitreous state ?

1S & e HI @ol 90t 9

What is the action of conc. HI with glucose ?

O/W 558050 W/O 8570 090 05 Jxodstele 8otk e:rmrrteadoons oo

Give two examples of emulsifying agents for O/W and W/O type of emulsions.

ASG'ES e D20 7 @98 Jo° 08B ?

What is glycerose ? How is it obtained ?
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QB 5 0 ATgasonid AD TR &Ny @Pokomso.

Draw the structure of urotropine and write its use.

8ot Feeadhsd BHBTS (T) Bo00ws (IT) HBes 3§ DG Derod> 30V, O WGy SO
23500 508050 JOLIE BT BB ?

m BT
/I

POBY T-es03e5y BB §-es03¢e5y

A
A

Consider the potential energy diagrams of reactions (I) and (II) given below, predict
which reaction will go faster and why ?

Threshold energy E,=activation energy

Threshold energy

(H) El‘lergy ------------
/I

Reaction co-ordinates Reaction co-ordinates

(I) Energy
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25.

26.

27.

28.

29.

30.

31.

geifo — 111/ PART - III
T 0 (DR eETe00d TR, (5% Bogg 33 SHUS. 6x3=18
Answer any six questions and Question no. 33 is Compulsory.
XJ®§)§5 ?obmz.g @j@S G320E), 220087 DG EES DeD0 88, 05%0. OV %8
F=174 eV/atom ™ 355533&0&-
F clooty, 295 @he3 =3.62 eV/atom.

Calculate the electronegativity value of fluorine on Mulliken’s Scale, given that
Ionisation potential of F=17.4 eV/atom.

Electron affinity of F=3.62 eV/atom.

TPotR) 50050 €332 K065 IBT° $0T°CR EI5H00DRD A0

Write any three differences between lanthanides and actinides.

90Th?32 535 ¢, Pb?08 5 50985500 230055533t D6otsw ey o 5000 B 5eah00 Hopgdy
@%bo@b\)\).

Calculate the number of a and B particles emitted in the conversion of oy Th?*2 to ¢,Pb?%8.

BB GTHOH0 I O 9

What is Reaction Quotient ?

BoesIS00 G0, DD [oTE SEETORD EPADON0.

Write any three characteristics of dyes.

2.8 503300 G0, (Poels emf Ko QTG00

Define standard emf of a cell.

B2208 QoEho00 R A0 ? GOEPTENRiNd 330y

What is racemic mixture ? Give example.
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FER Jogasions DOEBoPB0. RS K¢ T8 T SEXPERHe Sopgd KBk
€558 RPHE Hopgdd w80,

Draw the structure of Fructose. Mention the number of Chiral Carbon atoms and
number of optical isomers present in it.

2 5TS B0y edess B 100 KJ/376. &issso 25°C H08 35°C SrORSsn SO
B0, e %@oéaﬁwé’s 36y Do 9 25°C S8 e %@oééﬁo& K, 500050
35°C 3563 KT (50700750 53087305300,

The activation energy of a certain reaction is 100 kJ/mole. What is the change in the
rate constant of the reaction if the temperature is changed from 25°C to 35°C ? Let the
rate constants at 25°C be K; and at 35°C be K, respectively.

grilo - IV / PART - IV
W) PHOES eIT°e0B) FOIOD0. 5x5=25

Answer all the questions.

(@) () God erPHoo HBAH WATHS” KoSS KoENiuy 287,050,
(A) CO, (B) NO, (©) do, (D) XeF,
(i) 0SB0 ooty BB SIBRNRD FAHIS.
e
b) () exsds esdd HOBROKD @OT0R00.
() DTS CRoE, APT® H0CE EBHATTERIOR @A,
(@) (i) Mention the hybridisation in the following molecules and ions :
(A) CO, (B) NO, (C) €O, (D) XeF,

(i) Write Heisenberg’s uncertainty principle.
OR
(b) (i) What is inert pair effect ?

(i) Mention any three uses of silicones.
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35.

36.

37.

(@)

10

@) [Ti(H0)P+ Sorh sDABG 2080 [Sc(H,0)6P+ Sorh &8, D580,
() Eo Dedoh P Ty @A,
S

Fes03530 Troolyy G300, IS DTOBY ESTEH[00R FRaIK0N.
() [Ti(H,O)g** is coloured while [Sc(H,O).]** is colourless. Explain.
(i) Write a note on Chrome plating.
OR
What are the postulates of Werner’s theory of Co-ordination Compounds ?

() SO Ry S0 DIBoHI.
() OIS BRESE000 AFT° L OFETOR @EALIN.
Sley
2.5 PEROEY BPOIRSS S0T® OSSR K, 50000 K, 250655 902000 Ereioma.

(i)  Explain molecular crystals.
(ii) Write any six characteristics of ionic compounds.
OR
Derive the relation between Kp and K_ for a general chemical equilibrium reaction.

@) (30 SroEsEHned” S0 DEY @Y So0ake FHer CIPHES0B
87,0500
(A) 2020085 (B) TrOCIIY, P50

(i)  ES)0S TS P VPR EPOIINN. EIFERUE JIy

o

() 25 ErHesos e O 9

(i) EHATdE wivo Dot K, 1.84x107°% 05 M Fadrdb koo H5obai
0.5 M JFE0ho @racdoraes SOAS a8 (@@easoo pH Jos 9

(i) Mention the dispersed phase and dispersion medium present in the
following colloids.

(A) Paint (B) Froths of air
(ii) Write short notes on Catalytic poison. Give example.
OR

(i)  What is a buffer solution ?
(i) The K, of propionic acid is 1.84x107°. What is the pH of a solution
containing 0.5 M propionic acid and 0.5 M sodium propionate ?
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orTR B05E D
HBOBES) 2

@3;306, VB0 S0k BOAE oS $o dor

&S Ko JETe5 DB D> e 2
Slas
PO 593500 CRo0%, SOETES GRS DBOYHH,

©FD ST 0 & $odaho e, 0*0E KOH & SSE0 200 507 (5550050
G oW, A8 (OGN oo,
How will you distinguish primary, secondary and tertiary alcohol by Lucas
Test ?
What happens when anisole is nitrated ?

OR
Explain the reducing property of formic acid.

Aniline reacts with Chloroform and alcoholic KOH and gives an offensive
smelling liquid as a product. Write the reaction for it.

-00o0-



